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Maximum and Minimum Speeds of Driven Shaft
We have discussed in the previous article that velocity ratio,
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Condition for Equal Speeds of the Driving and Driven Shafts

We have already discussed that the ratio of the speeds of the driven and driving shafts is
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In the limit, when & = 0,
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Component of angular acceleration in the direction perpendicular to ox,
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Since 80 in very small, therefore substituting sin 80 = 86, we have
e .50 + 50.80 : 0,00
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..(Neglecting dw.d8, being very small)
In the limit when 8f - 0,
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. Total angular acceleration of the disc
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where dB/dtis the angular velocity of the axis of spin about a certain axis, which is
perpendicular to the plane in which the axis of spin is going to rotate. This angular
velocity of the axis of spin (i.e. dB/dt) is known as angular velocity of precession and
is denoted by wP

. The axis, about which the axis of spin is to turn, is known as axis of precession. The
angular motion of the axis of spin about the axis of precession is known as

precessional angular motion

Gyroscopic Couple

Consider a disc spinning with an angular velocity wrad/s about the axis of spin OX,
in

anticlockwise direction when seen from the front, as shown in Fig. 14.2 (a). Since
the plane in which

the disc is rotating is parallel to the plane YOZ,therefore it is called plane of

spinning.
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